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=  1600 —350 
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20 x 5 x 5 = 
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eighty hundred and ten  divided by 9 = 
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716 ÷ 6 = 



 

        70 x 80 = 
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        10000—2550 =  2,350 + 
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8   -  10 = 



 

10 - 2.42 = 
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        4,305 ÷ 5 = 



 

2    +    3   = 

5          5 
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10 X  30 = 
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3    of    300 = 

5 



 

a  factor   of   15   and   36 

 

1    = 
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1    +    3   = 

2         4 
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        7026 ÷ 6 = 

 

        60  X 8 =  
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1    +    1    +  2     = 

5         4       10 
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1  X    2   = 

8        5        



 

1  +    1   = 

3       6        
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30 of 

 

3      

5              
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